



# Symmetric identities for degenerate generalized Bernoulli polynomials

Taekyun Kim<sup>a,b</sup>, Dmitry V. Dolgy<sup>c</sup>, Dae San Kim<sup>d,\*</sup>

<sup>a</sup>Department of Mathematics, College of Science, Tianjin Polytechnic University, Tianjin City, 300387, China.

<sup>b</sup>Department of Mathematics, Kwangwoon University, Seoul 139-701, Republic of Korea.

<sup>c</sup>Institute of Natural Sciences, Far Eastern Federal University, 690950 Vladivostok, Russia.

<sup>d</sup>Department of Mathematics, Sogang University, Seoul 121-742, Republic of Korea.

Communicated by Seog-Hoon Rim

## Abstract

In this paper, we give some interesting identities of symmetry for degenerate generalized Bernoulli polynomials attached to  $\chi$  which are derived from the properties of symmetry of certain  $p$ -adic invariant integrals on  $\mathbb{Z}_p$ . ©2016 All rights reserved.

*Keywords:* Symmetry, identity, degenerate generalized Bernoulli polynomial.

*2010 MSC:* 11B68, 11B83, 11C08, 65D20, 65Q30, 65R20

## 1. Introduction

Let  $p$  be a fixed prime number. Throughout this paper,  $\mathbb{Z}_p$ ,  $\mathbb{Q}_p$  and  $\mathbb{C}_p$  will denote the ring of  $p$ -adic integers, the field of  $p$ -adic rational numbers and the completion of the algebraic closure of  $\mathbb{Q}_p$ . The  $p$ -adic norm  $|\cdot|_p$  is normalized as  $|p|_p = \frac{1}{p}$ . Let  $f(x)$  be a uniformly differentiable function on  $\mathbb{Z}_p$ . Then, the  $p$ -adic invariant integral on  $\mathbb{Z}_p$  is defined as

$$\int_{\mathbb{Z}_p} f(x) d\mu_0(x) = \lim_{N \rightarrow \infty} \frac{1}{p^N} \sum_{x=0}^{p^N-1} f(x), \quad (\text{see [9, 11]}). \quad (1.1)$$

\*Corresponding author

Email addresses: [tkkim@kw.ac.kr](mailto:tkkim@kw.ac.kr) (Taekyun Kim), [d\\_dol@mail.ru](mailto:d_dol@mail.ru) (Dmitry V. Dolgy), [dskim@sogang.ac.kr](mailto:dskim@sogang.ac.kr) (Dae San Kim)

Thus, by (1.1), we get

$$\int_{\mathbb{Z}_p} f(x+n) d\mu_0(x) - \int_{\mathbb{Z}_p} f(x) d\mu_0(x) = \sum_{l=0}^{n-1} f'(l), \quad (n \in \mathbb{N}). \tag{1.2}$$

In particular, for  $n = 1$ , we have

$$\int_{\mathbb{Z}_p} f(x+1) d\mu_0(x) - \int_{\mathbb{Z}_p} f(x) d\mu_0(x) = f'(0), \quad (\text{see [11]}). \tag{1.3}$$

As is well known, the Bernoulli polynomials are given by the generating function

$$\int_{\mathbb{Z}_p} e^{(x+y)t} d\mu_0(y) = \frac{t}{e^t - 1} e^{xt} = \sum_{n=0}^{\infty} B_n(x) \frac{t^n}{n!}. \tag{1.4}$$

When  $x = 0$ ,  $B_n = B_n(0)$  are called Bernoulli numbers (see [1]–[19]).

Carlitz introduced degenerate Bernoulli polynomials defined by the generating function

$$\frac{t}{(1 + \lambda t)^{\frac{1}{\lambda}} - 1} (1 + \lambda t)^{\frac{x}{\lambda}} = \sum_{n=0}^{\infty} \beta_n(x | \lambda) \frac{t^n}{n!}, \quad (\text{see [4]}). \tag{1.5}$$

When  $x = 0$ ,  $\beta_n(\lambda) = \beta_n(0 | \lambda)$  are called degenerate Bernoulli numbers.

Recently, T. Kim introduced degenerate Bernoulli polynomials which are different from Carlitz degenerate Bernoulli polynomials as follows:

$$\frac{\log(1 + \lambda t)^{\frac{1}{\lambda}}}{(1 + \lambda t)^{\frac{1}{\lambda}} - 1} (1 + \lambda t)^{\frac{x}{\lambda}} = \sum_{n=0}^{\infty} \beta_{n,\lambda}(x) \frac{t^n}{n!}, \tag{1.6}$$

where  $\lambda, t \in \mathbb{C}_p$  with  $|\lambda t|_p < p^{-\frac{1}{p-1}}$  (see [11]).

Let  $d \in \mathbb{N}$  with  $(d, p) = 1$ . Then, we set

$$X = \varprojlim_N \frac{\mathbb{Z}}{dp^N \mathbb{Z}}, \quad X^* = \bigcup_{\substack{0 < a < dp \\ p \nmid a}} (a + dp\mathbb{Z}_p),$$

and

$$a + dp^N \mathbb{Z}_p = \{x \mid x \equiv a \pmod{dp^N}\},$$

where  $a \in \mathbb{Z}$  with  $0 \leq a \leq dp^N - 1$ .

Let  $\chi$  be a Dirichlet character with conductor  $d \in \mathbb{N}$ . Then the generalized Bernoulli polynomials are defined by the generating function

$$\left( \frac{t}{e^{dt} - 1} \sum_{a=0}^{d-1} \chi(a) e^{at} \right) e^{xt} = \sum_{n=0}^{\infty} B_{n,\chi}(x) \frac{t^n}{n!} \quad (\text{see [1]–[19]}). \tag{1.7}$$

We define the degenerate generalized Bernoulli polynomials attached to  $\chi$  by the generating function

$$\left( \frac{\log(1 + \lambda t)^{\frac{1}{\lambda}}}{(1 + \lambda t)^{\frac{d}{\lambda}} - 1} \sum_{a=0}^{d-1} \chi(a) (1 + \lambda t)^{\frac{a}{\lambda}} \right) (1 + \lambda t)^{\frac{x}{\lambda}} = \sum_{n=0}^{\infty} \beta_{n,\lambda,\chi}(x) \frac{t^n}{n!}. \tag{1.8}$$

When  $x = 0$ ,  $\beta_{n,\lambda,\chi} = \beta_{n,\lambda,\chi}(0)$  are called degenerate generalized Bernoulli numbers attached to  $\chi$ . Note that  $\lim_{\lambda \rightarrow 0} \beta_{n,\lambda,\chi}(x) = B_{n,\chi}(x)$ , ( $n \geq 0$ ).

The purpose of this paper is to give some identities of symmetry for degenerate generalized Bernoulli polynomials attached to  $\chi$  which are derived from certain symmetric identities of  $p$ -adic invariant integrals on  $\mathbb{Z}_p$ .

### 2. Symmetric identities of degenerate generalized Bernoulli polynomials

Let us assume that  $\lambda, t \in \mathbb{C}_p$  with  $|\lambda t|_p < p^{-\frac{1}{p-1}}$ . It is known that

$$\int_X f(x) d\mu_0(x) = \int_{\mathbb{Z}_p} f(x) d\mu_0(x), \quad (\text{see [9]}), \tag{2.1}$$

where  $f(x)$  is uniformly differentiable function on  $\mathbb{Z}_p$ . From (1.2), we note that

$$\int_X \chi(x) (1 + \lambda t)^{\frac{x}{\lambda}} d\mu_0(x) = \frac{\log(1 + \lambda t)^{\frac{1}{\lambda}}}{(1 + \lambda t)^{\frac{d}{\lambda}} - 1} \sum_{a=0}^{d-1} \chi(a) (1 + \lambda t)^{\frac{a}{\lambda}} = \sum_{n=0}^{\infty} \beta_{n,\lambda,\chi} \frac{t^n}{n!}. \tag{2.2}$$

Thus, by (2.2), we get

$$\int_X \chi(y) (1 + \lambda t)^{\frac{x+y}{\lambda}} d\mu_0(y) = \frac{\log(1 + \lambda t)^{\frac{1}{\lambda}}}{(1 + \lambda t)^{\frac{d}{\lambda}} - 1} \sum_{a=0}^{d-1} \chi(a) (1 + \lambda t)^{\frac{a+x}{\lambda}} = \sum_{n=0}^{\infty} \beta_{n,\lambda,\chi}(x) \frac{t^n}{n!}, \tag{2.3}$$

where  $\chi$  is a Dirichlet character with conductor  $d \in \mathbb{N}$ . Now, we observe that

$$\int_X \chi(x) (1 + \lambda t)^{\frac{x+nd}{\lambda}} d\mu_0(x) - \int_X \chi(x) (1 + \lambda t)^{\frac{x}{\lambda}} d\mu_0(x) = \log(1 + \lambda t)^{\frac{1}{\lambda}} \sum_{a=0}^{nd-1} \chi(a) (1 + \lambda t)^{\frac{a}{\lambda}}. \tag{2.4}$$

By (2.4), we get

$$\left( \frac{t}{\log(1 + \lambda t)^{\frac{1}{\lambda}}} \right) \frac{1}{t} \sum_{m=0}^{\infty} (\beta_{m,\lambda,\chi}(nd) - \beta_{m,\lambda,\chi}) \frac{t^m}{m!} = \sum_{m=0}^{\infty} \sum_{a=0}^{nd-1} \chi(a) (a | \lambda)_m \frac{t^m}{m!}, \tag{2.5}$$

where  $(a | \lambda)_m = a(a - \lambda) \cdots (a - \lambda(m - 1))$  and  $(a | \lambda)_0 = 1$ . It is not difficult to show that

$$\begin{aligned} & \frac{t}{\log(1 + \lambda t)^{\frac{1}{\lambda}}} \frac{1}{t} \sum_{m=0}^{\infty} (\beta_{m,\lambda,\chi}(nd) - \beta_{m,\lambda,\chi}) \frac{t^m}{m!} \\ &= \left( \sum_{l=0}^{\infty} b_l \frac{\lambda^l t^l}{l!} \right) \left( \sum_{k=0}^{\infty} \frac{\beta_{k+1,\lambda,\chi}(nd) - \beta_{k+1,\lambda,\chi} t^k}{k+1} \frac{t^k}{k!} \right) \\ &= \sum_{m=0}^{\infty} \left( \sum_{k=0}^m \binom{m}{k} \frac{\beta_{k+1,\lambda,\chi}(nd) - \beta_{k+1,\lambda,\chi} t^k}{k+1} b_{m-k} \lambda^{m-k} \right) \frac{t^m}{m!}. \end{aligned} \tag{2.6}$$

From (2.5) and (2.6), we have

$$\sum_{k=0}^m \binom{m}{k} \left( \frac{\beta_{k+1,\lambda,\chi}(nd) - \beta_{k+1,\lambda,\chi} t^k}{k+1} \right) b_{m-k} \lambda^{m-k} = \sum_{a=0}^{nd-1} \chi(a) (a | \lambda)_m, \tag{2.7}$$

where  $b_m$  is the  $m$ -th Bernoulli number of the second kind. Let us define  $S_k(n, \lambda | \chi)$  as follows:

$$\sum_{l=0}^n \chi(l) (l | \lambda)_k = S_k(n, \lambda | \chi), \quad (n \in \mathbb{N}). \tag{2.8}$$

We observe that

$$\frac{1}{\log(1 + \lambda t)^{\frac{1}{\lambda}}} \left( \int_X \chi(x) (1 + \lambda t)^{\frac{nd+x}{\lambda}} d\mu_0(x) - \int_X \chi(x) (1 + \lambda t)^{\frac{x}{\lambda}} d\mu_0(x) \right) \tag{2.9}$$

$$= \frac{nd \int_X \chi(x) (1 + \lambda t)^{\frac{x}{\lambda}} d\mu_0(x)}{\int_X (1 + \lambda t)^{\frac{ndx}{\lambda}} d\mu_0(x)} = \frac{(1 + \lambda t)^{\frac{nd}{\lambda}} - 1}{(1 + \lambda t)^{\frac{d}{\lambda}} - 1} \left( \sum_{i=0}^{d-1} \chi(i) (1 + \lambda t)^{\frac{i}{\lambda}} \right).$$

From (2.9), we have

$$\begin{aligned} & \frac{1}{\log(1 + \lambda t)^{\frac{1}{\lambda}}} \left( \int_X \chi(x) (1 + \lambda t)^{\frac{nd+x}{\lambda}} d\mu_0(x) - \int_X \chi(x) (1 + \lambda t)^{\frac{x}{\lambda}} d\mu_0(x) \right) \\ &= \sum_{a=0}^{nd-1} \chi(a) (1 + \lambda t)^{\frac{a}{\lambda}} = \sum_{k=0}^{\infty} \left( \sum_{a=0}^{nd-1} \chi(a) (a | \lambda)_k \right) \frac{t^k}{k!}. \end{aligned} \tag{2.10}$$

Thus, by (2.8) and (2.10), we get

$$\begin{aligned} & \frac{1}{\log(1 + \lambda t)^{\frac{1}{\lambda}}} \left( \int_X \chi(x) (1 + \lambda t)^{\frac{nd+x}{\lambda}} d\mu_0(x) - \int_X \chi(x) (1 + \lambda t)^{\frac{x}{\lambda}} d\mu_0(x) \right) \\ &= \sum_{k=0}^{\infty} (S_k(nd - 1, \lambda | \chi)) \frac{t^k}{k!}. \end{aligned} \tag{2.11}$$

From (2.7) and (2.11), we have

$$\sum_{k=0}^m \binom{m}{k} \left( \frac{\beta_{k+1, \lambda, \chi}(nd) - \beta_{k+1, \lambda, \chi}}{k + 1} \right) b_{m-k} \lambda^{m-k} = S_m(nd - 1, \lambda | \chi), \tag{2.12}$$

where  $m \geq 0$ . Let  $w_1, w_2, d \in \mathbb{N}$ . Then, we consider the following integral equation:

$$\begin{aligned} & \frac{d \int_X \int_X \chi(x_1) \chi(x_2) (1 + \lambda t)^{\frac{w_1 x_1 + w_2 x_2}{\lambda}} d\mu_0(x_1) d\mu_0(x_2)}{\int_X (1 + \lambda t)^{\frac{dw_1 w_2 x}{\lambda}} d\mu_0(x)} \\ &= \frac{\log(1 + \lambda t)^{\frac{1}{\lambda}} \left( (1 + \lambda t)^{\frac{dw_1 w_2}{\lambda}} - 1 \right)}{\left( (1 + \lambda t)^{\frac{w_1 d}{\lambda}} - 1 \right) \left( (1 + \lambda t)^{\frac{w_2 d}{\lambda}} - 1 \right)} \left( \sum_{a=0}^{d-1} \chi(a) (1 + \lambda t)^{\frac{w_1 a}{\lambda}} \right) \\ & \quad \times \left( \sum_{b=0}^{d-1} \chi(b) (1 + \lambda t)^{\frac{w_2 b}{\lambda}} \right). \end{aligned} \tag{2.13}$$

By (2.9), we get

$$\frac{dw_1 \int_X \chi(x) (1 + \lambda t)^{\frac{x}{\lambda}} d\mu_0(x)}{\int_X (1 + \lambda t)^{\frac{dw_1 x}{\lambda}} d\mu_0(x)} = \sum_{k=0}^{\infty} S_k(dw_1 - 1, \lambda | \chi) \frac{t^k}{k!}. \tag{2.14}$$

Let

$$T_\chi(w_1, w_2 | \lambda) = \frac{d \int_X \int_X \chi(x_1) \chi(x_2) (1 + \lambda t)^{\frac{w_1 x_1 + w_2 x_2 + w_1 w_2 x}{\lambda}} d\mu_0(x_1) d\mu_0(x_2)}{\int_X (1 + \lambda t)^{\frac{dw_1 w_2 x}{\lambda}} d\mu_0(x)}. \tag{2.15}$$

From (2.15), we note that  $T_\chi(w_1, w_2 | \lambda)$  is symmetric in  $w_1$  and  $w_2$ , and

$$\begin{aligned} & T_\chi(w_1, w_2 | \lambda) \\ &= \frac{\log(1 + \lambda t)^{\frac{1}{\lambda}} \left( (1 + \lambda t)^{\frac{dw_1 w_2}{\lambda}} - 1 \right) (1 + \lambda t)^{\frac{w_1 w_2 x}{\lambda}}}{\left( (1 + \lambda t)^{\frac{w_1 d}{\lambda}} - 1 \right) \left( (1 + \lambda t)^{\frac{w_2 d}{\lambda}} - 1 \right)} \\ & \quad \times \left( \sum_{a=0}^{d-1} \chi(a) (1 + \lambda t)^{\frac{w_1 a}{\lambda}} \right) \left( \sum_{b=0}^{d-1} \chi(b) (1 + \lambda t)^{\frac{w_2 b}{\lambda}} \right). \end{aligned} \tag{2.16}$$

Thus, by (2.15) and (2.16), we get

$$\begin{aligned}
 T_\chi(w_1, w_2 | \lambda) &= \left( \frac{1}{w_1} \int_X \chi(x_1) (1 + \lambda t)^{\frac{w_1(x_1 + w_2 x)}{\lambda}} d\mu_0(x_1) \right) \\
 &\quad \times \left( \frac{dw_1 \int_X \chi(x_2) (1 + \lambda t)^{\frac{w_2 x_2}{\lambda}} d\mu_0(x_2)}{\int_X (1 + \lambda t)^{\frac{dw_1 w_2 x}{\lambda}} d\mu_0(x)} \right) \\
 &= \left( \frac{1}{w_1} \sum_{i=0}^\infty \beta_{i, \frac{\lambda}{w_1}, \chi}(w_2 x) \frac{w_1^i t^i}{i!} \right) \left( \sum_{k=0}^\infty S_k \left( dw_1 - 1, \frac{\lambda}{w_2} \middle| \chi \right) \frac{w_2^k t^k}{k!} \right) \\
 &= \frac{1}{w_1} \sum_{l=0}^\infty \left( \sum_{i=0}^l \frac{\beta_{i, \frac{\lambda}{w_1}, \chi}(w_2 x) S_{l-i} \left( dw_1 - 1, \frac{\lambda}{w_2} \middle| \chi \right) w_1^i w_2^{l-i} l!}{i!(l-i)!} \right) \frac{t^l}{l!} \\
 &= \sum_{l=0}^\infty \left( \sum_{i=0}^l \binom{l}{i} \beta_{i, \frac{\lambda}{w_1}, \chi}(w_2 x) S_{l-i} \left( dw_1 - 1, \frac{\lambda}{w_2} \middle| \chi \right) w_1^{i-1} w_2^{l-i} \right) \frac{t^l}{l!}.
 \end{aligned} \tag{2.17}$$

On the other hand,

$$T_\chi(w_1, w_2 | \lambda) = \sum_{l=0}^\infty \left( \sum_{i=0}^l \binom{l}{i} \beta_{i, \frac{\lambda}{w_2}, \chi}(w_1 x) S_{l-i} \left( dw_2 - 1, \frac{\lambda}{w_1} \middle| \chi \right) w_2^{i-1} w_1^{l-i} \right) \frac{t^l}{l!}. \tag{2.18}$$

By comparing the coefficients on both sides of (2.17) and (2.18), we obtain the following theorem.

**Theorem 2.1.** For  $w_1, w_2, d \in \mathbb{N}$ , let  $\chi$  be a Dirichlet character with conductor  $d$ . Then we have

$$\begin{aligned}
 &\sum_{i=0}^l \binom{l}{i} \beta_{i, \frac{\lambda}{w_1}, \chi}(w_2 x) S_{l-i} \left( dw_1 - 1, \frac{\lambda}{w_2} \middle| \chi \right) w_1^{i-1} w_2^{l-i} \\
 &= \sum_{i=0}^l \binom{l}{i} \beta_{i, \frac{\lambda}{w_2}, \chi}(w_1 x) S_{l-i} \left( dw_2 - 1, \frac{\lambda}{w_1} \middle| \chi \right) w_2^{i-1} w_1^{l-i}.
 \end{aligned}$$

In particular, taking  $x = 0$ , we have

$$\sum_{i=0}^l \beta_{i, \frac{\lambda}{w_1}, \chi} S_{l-i} \left( dw_1 - 1, \frac{\lambda}{w_2} \middle| \chi \right) w_1^{i-1} w_2^{l-i} \binom{l}{i} = \sum_{i=0}^l \beta_{i, \frac{\lambda}{w_2}, \chi} S_{l-i} \left( dw_2 - 1, \frac{\lambda}{w_1} \middle| \chi \right) w_2^{i-1} w_1^{l-i} \binom{l}{i}.$$

From (2.9), (2.15) and (2.17), we have

$$\begin{aligned}
 T_\chi(w_1, w_2 | \lambda) &= \left( \frac{(1 + \lambda t)^{\frac{w_1 w_2 x}{\lambda}}}{w_1} \int_X \chi(x_1) (1 + \lambda t)^{\frac{w_1 x_1}{\lambda}} d\mu_0(x_1) \right) \\
 &\quad \times \left( \frac{dw_1 \int_X \chi(x_2) (1 + \lambda t)^{\frac{w_2 x_2}{\lambda}} d\mu_0(x_2)}{\int_X (1 + \lambda t)^{\frac{dw_1 w_2 x}{\lambda}} d\mu_0(x)} \right) \\
 &= \left( \frac{(1 + \lambda t)^{\frac{w_1 w_2 x}{\lambda}}}{w_1} \int_X \chi(x_1) (1 + \lambda t)^{\frac{w_1 x_1}{\lambda}} d\mu_0(x_1) \right) \\
 &\quad \times \left( \frac{(1 + \lambda t)^{\frac{dw_1 w_2}{\lambda}} - 1}{(1 + \lambda t)^{\frac{w_2 d}{\lambda}} - 1} \right) \left( \sum_{i=0}^{d-1} \chi(i) (1 + \lambda t)^{\frac{w_2 i}{\lambda}} \right)
 \end{aligned}$$

$$\begin{aligned}
 &= \left( \frac{(1 + \lambda t)^{\frac{w_1 w_2 x}{\lambda}}}{w_1} \int_X \chi(x_1) (1 + \lambda t)^{\frac{w_1 x_1}{\lambda}} d\mu_0(x_1) \right) \\
 &\quad \times \left( \sum_{l=0}^{w_1-1} \sum_{i=0}^{d-1} (1 + \lambda t)^{\frac{w_2(i+ld)}{\lambda}} \chi(i + ld) \right) \\
 &= \left( \frac{(1 + \lambda t)^{\frac{w_1 w_2 x}{\lambda}}}{w_1} \int_X \chi(x_1) (1 + \lambda t)^{\frac{w_1 x_1}{\lambda}} d\mu_0(x_1) \right) \left( \sum_{i=0}^{dw_1-1} (1 + \lambda t)^{\frac{w_2 i}{\lambda}} \chi(i) \right) \tag{2.19} \\
 &= \frac{1}{w_1} \sum_{i=0}^{dw_1-1} \chi(i) \int_X \chi(x_1) (1 + \lambda t)^{\frac{w_1}{\lambda} \left(x_1 + w_2 x + \frac{w_2}{w_1} i\right)} d\mu_0(x_1) \\
 &= \frac{1}{w_1} \sum_{i=0}^{dw_1-1} \chi(i) \sum_{k=0}^{\infty} \beta_{k, \frac{\lambda}{w_1}, \chi} \left( w_2 x + \frac{w_2}{w_1} i \right) \frac{w_1^k t^k}{k!} \\
 &= \sum_{k=0}^{\infty} \left( \sum_{i=0}^{dw_1-1} \chi(i) \beta_{k, \frac{\lambda}{w_1}, \chi} \left( w_2 x + \frac{w_2}{w_1} i \right) w_1^{k-1} \right) \frac{t^k}{k!}.
 \end{aligned}$$

On the other hand,

$$\begin{aligned}
 T_{\chi}(w_1, w_2 | \lambda) &= \left( \frac{(1 + \lambda t)^{\frac{w_1 w_2 x}{\lambda}}}{w_2} \int_X \chi(x_2) (1 + \lambda t)^{\frac{w_2 x_2}{\lambda}} d\mu_0(x_2) \right) \\
 &\quad \times \left( \frac{dw_2 \int_X \chi(x_1) (1 + \lambda t)^{\frac{w_1 x_1}{\lambda}} d\mu_0(x_1)}{\int_X (1 + \lambda t)^{\frac{dw_1 w_2 x}{\lambda}} d\mu_0(x)} \right) \\
 &= \left( \frac{(1 + \lambda t)^{\frac{w_1 w_2 x}{\lambda}}}{w_2} \int_X \chi(x_2) (1 + \lambda t)^{\frac{w_2 x_2}{\lambda}} d\mu_0(x_2) \right) \\
 &\quad \times \left( \frac{(1 + \lambda t)^{\frac{dw_1 w_2}{\lambda}} - 1}{(1 + \lambda t)^{\frac{w_1 d}{\lambda}} - 1} \right) \left( \sum_{i=0}^{d-1} \chi(i) (1 + \lambda t)^{\frac{w_1 i}{\lambda}} \right) \tag{2.20} \\
 &= \left( \frac{(1 + \lambda t)^{\frac{w_1 w_2 x}{\lambda}}}{w_2} \int_X \chi(x_2) (1 + \lambda t)^{\frac{w_2 x_2}{\lambda}} d\mu_0(x_2) \right) \\
 &\quad \times \left( \sum_{l=0}^{w_2-1} \sum_{i=0}^{d-1} (1 + \lambda t)^{\frac{w_1(i+ld)}{\lambda}} \chi(i + ld) \right) \\
 &= \left( \frac{(1 + \lambda t)^{\frac{w_1 w_2 x}{\lambda}}}{w_2} \int_X \chi(x_2) (1 + \lambda t)^{\frac{w_2 x_2}{\lambda}} d\mu_0(x_2) \right) \left( \sum_{i=0}^{dw_2-1} (1 + \lambda t)^{\frac{w_1 i}{\lambda}} \chi(i) \right) \\
 &= \frac{1}{w_2} \sum_{i=0}^{dw_2-1} \chi(i) \int_X \chi(x_2) (1 + \lambda t)^{\frac{w_2}{\lambda} \left(x_2 + w_1 x + \frac{w_1}{w_2} i\right)} d\mu_0(x_2) \\
 &= \frac{1}{w_2} \sum_{i=0}^{dw_2-1} \chi(i) \sum_{k=0}^{\infty} \beta_{k, \frac{\lambda}{w_2}, \chi} \left( w_1 x + \frac{w_1}{w_2} i \right) \frac{w_2^k t^k}{k!} \\
 &= \sum_{k=0}^{\infty} \left( \sum_{i=0}^{dw_2-1} \chi(i) \beta_{k, \frac{\lambda}{w_2}, \chi} \left( w_1 x + \frac{w_1}{w_2} i \right) w_2^{k-1} \right) \frac{t^k}{k!}.
 \end{aligned}$$

Therefore, by (2.19) and (2.20), we obtain the following theorem.

**Theorem 2.2.** For  $w_1, w_2, d \in \mathbb{N}$ , let  $\chi$  be a Dirichlet character with conductor  $d$ . Then we have

$$w_1^{k-1} \sum_{i=0}^{dw_1-1} \chi(i) \beta_{k, \frac{\lambda}{w_1}, \chi} \left( w_2 x + \frac{w_2}{w_1} i \right) = w_2^{k-1} \sum_{i=0}^{dw_2-1} \chi(i) \beta_{k, \frac{\lambda}{w_2}, \chi} \left( w_1 x + \frac{w_1}{w_2} i \right).$$

*Remark 2.3.* Let  $x = 0$  in Theorem 2.2. Then we note that

$$w_1^{k-1} \sum_{i=0}^{dw_1-1} \chi(i) \beta_{k, \frac{\lambda}{w_1}, \chi} \left( \frac{w_2}{w_1} i \right) = w_2^{k-1} \sum_{i=0}^{dw_2-1} \chi(i) \beta_{k, \frac{\lambda}{w_2}, \chi} \left( \frac{w_1}{w_2} i \right).$$

Further, if we take  $w_2 = 1$ , then we get

$$w_1^{k-1} \sum_{i=0}^{dw_1-1} \chi(i) \beta_{k, \frac{\lambda}{w_1}, \chi} \left( \frac{1}{w_1} i \right) = \sum_{i=0}^{d-1} \chi(i) \beta_{k, \lambda, \chi} (w_1 i).$$

## References

- [1] M. Açıkgöz, D. Erdal, S. Araci, *A new approach to  $q$ -Bernoulli numbers and  $q$ -Bernoulli polynomials related to  $q$ -Bernstein polynomials*, Adv. Difference Equ., **2010** (2010), 9 pages.1, 1.7
- [2] A. Bayad, *Modular properties of elliptic Bernoulli and Euler functions*, Adv. Stud. Contemp. Math., **20** (2010), 389–401.
- [3] L. Carlitz, *Generalized Bernoulli and Euler numbers*, Duke Math. J., **8** (1941), 585–589.
- [4] L. Carlitz, *A degenerate Staudt-Clausen theorem*, Arch. Math. (Basel), **7** (1956), 28–33.1.5
- [5] K. W. Chen, *Sums of products of generalized Bernoulli polynomials*, Pacific J. Math., **208** (2003), 39–52.
- [6] S. Chowla, *On the signs of certain generalized Bernoulli numbers*, Norske Vid. Selsk. Forh. Trondheim, **34** (1961), 102–104.
- [7] Y. He, *Symmetric identities for Carlitz's  $q$ -Bernoulli numbers and polynomials*, Adv. Difference Equ., **2013** (2013), 10 pages.
- [8] T. Kim, *Symmetry  $p$ -adic invariant integral on  $\mathbb{Z}_p$  for Bernoulli and Euler polynomials*, J. Difference Equ. Appl., **14** (2008), 1267–1277.
- [9] T. Kim, *Symmetry of power sum polynomials and multivariate fermionic  $p$ -adic invariant integral on  $\mathbb{Z}_p$* , Russ. J. Math. Phys., **16** (2009), 93–96.1.1, 2.1
- [10] D. S. Kim, T. Kim, *A note on degenerate poly-Bernoulli numbers and polynomials*, Adv. Difference Equ., **2015** (2015), 8 pages.
- [11] D. S. Kim, T. Kim, D. V. Dolgy, *A note on degenerate Bernoulli numbers and polynomials associated with  $p$ -adic invariant integral on  $\mathbb{Z}_p$* , Appl. Math. Comput., **259** (2015), 198–204.1.1, 1.3, 1
- [12] T. Kim, S. H. Rim, B. Lee, *Some identities of symmetry for the generalized Bernoulli numbers and polynomials*, Abstr. Appl. Anal., **2009** (2009), 8 pages.
- [13] M. Le, *A note on the generalized Bernoulli sequences*, Ars Combin., **44** (1996), 283–286.
- [14] Q. M. Luo, F. Qi, *Relationships between generalized Bernoulli numbers and polynomials and generalized Euler numbers and polynomials*, Adv. Stud. Contemp. Math., **7** (2003), 11–18.
- [15] G. K. Panja, P. P. Dube, *On generalized Bernoulli polynomials*, Rev. Bull. Calcutta Math. Soc., **8** (2000), 43–48.
- [16] B. K. Rai, N. Rai, S. N. Singh, *On generalized Bernoulli and Euler polynomials*, Bull. Math. Soc. Sci. Math. R. S. Roumanie (N.S.), **25** (1981), 307–311.
- [17] Y. Simsek, *Generating functions of the twisted Bernoulli numbers and polynomials associated with their interpolation functions*, Adv. Stud. Contemp. Math., **16** (2008), 251–278.
- [18] N. L. Wang, *Some identities involving generalized Bernoulli numbers*, J. Inn. Mong. Norm. Univ. Nat. Sci., **43** (2014), 403–407.
- [19] S. L. Yang, Z. K. Qiao, *Some symmetry identities for the Euler polynomials*, J. Math. Res. Exposition, **30** (2010), 457–464.1, 1.7